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犜狅狋犪犾犃犿狅狌狀狋犆狅狀狋狉狅犾犜犲狊狋狅犳犠犻狀狋犲狉犠犺犲犪狋

犢犝犛犺狅狌狀犲狀犵，犛犝犖犣犺犻犼狌狀，犠犃犖犌犢犪狀，犢犝犔犻狕犺犻，犔犐犛犺狌狇犻狀犵
（ＹａｎｔａｉＲｅｓｅａｒｃｈＩｎｓｔｉｔｕｔｅｏｆＣｈｉｎａＡｇｒｉｃｕｌｔｕｒａｌＵｎｉｖｅｒｓｉｔｙ，Ｙａｎｔａｉ，Ｓｈａｎｄｏｎｇ２６４６７０）

犃犫狊狋狉犪犮狋：Ｉｎｏｒｄｅｒｔｏｏｐｔｉｍｉｚｅｔｈｅｓｕｉｔａｂｌｅｎｉｔｒｏｇｅｎａｎｄｐｈｏｓｐｈｏｒｕｓｆｅｒｔｉｌｉｚｅｒａｍｏｕｎｔｏｆｗｉｎｔｅｒｗｈｅａｔ，ｔｈｅｅｆｆｅｃｔｓ
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ｓｈｏｗｅｄｔｈａｔｔｈｅｑｕａｄｒａｔｉｃａｎａｌｏｇｕｅｆｕｎｃｔｉｏｎｂｅｔｗｅｅｎｎｉｔｒｏｇｅｎｆｅｒｔｉｌｉｚｅｒａｍｏｕｎｔａｎｄｙｉｅｌｄｏｆｗｉｎｔｅｒｗｈｅａｔｗａｓ

狔＝－０．６６１１狓
２＋２０．０９１狓＋２３４．８５，ｃｏｅｆｆｉｃｉｅｎｔｏｆａｓｓｏｃｉａｔｉｏｎｗａｓ０．９７０８，ｔｈｅａｍｏｕｎｔｏｆｎｉｔｒｏｇｅｎｆｅｒｔｉｌｉｚｅｒ

ｗａｓ２２８．０ｋｇ·ｈｍ
２ｗｈｅｎｙｉｅｌｄｏｆｗｉｎｔｅｒｗｈｅａｔｗａｓｔｈｅｈｉｇｈｅｓｔ；ｔｈｅｑｕａｄｒａｔｉｃａｎａｌｏｇｕｅｆｕｎｃｔｉｏｎｂｅｔｗｅｅｎｐｈｏｓ

ｐｈｏｒｕｓｆｅｒｔｉｌｉｚｅｒａｍｏｕｎｔａｎｄｙｉｅｌｄｏｆｗｉｎｔｅｒｗｈｅａｔｗａｓ狔＝－０．５７２６狓
２＋１３．１６８狓＋３４０．４，ｃｏｅｆｆｉｃｉｅｎｔｏｆａｓｓｏ

ｃｉａｔｉｏｎｗａｓ０．９２１９５，ａｎｄｔｈｅａｍｏｕｎｔｏｆｐｈｏｓｐｈｏｒｕｓｆｅｒｔｉｌｉｚｅｒｗａｓ１７２．５ｋｇ·ｈｍ
２ ｗｈｅｎｙｉｅｌｄｏｆｗｉｎｔｅｒｗｈｅａｔ

ｗａｓｔｈｅｈｉｇｈｅｓｔ．

犓犲狔狑狅狉犱狊：ｗｉｎｔｅｒｗｈｅａｔ；ｎｉｔｒｏｇｅｎｆｅｒｔｉｌｉｚｅｒ；ｐｈｏｓｐｈｏｒｕｓｆｅｒｔｉｌｉｚｅｒ；ｔｏｔａｌａｍｏｕｎｔｃｏｎｔｒｏｌｔｅｓｔ
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